JAMIicon

HRAR TR PR AR F A AR

FlEAF] - QP
HBELY] QP

W i M 105°C 20007 1NAst

W HEERL A UPS ~ AR &40 ~ RTTII Lk - Forikdy ~ 202045 - THias

PR ~ EEURES

B 75 & HHRROHS ™ i
| BicEs
W OH T BE
TAEREEE 225~ +105°C
WE S 160 ~ 500VDC
BB RS £20% (120Hz, 20C)
B Q0C) [=0.02CVEE SmATPERE—MEVIME » (FEIIEUE B ES 7 #h S 2D
‘ L JRESI(nA) C: FEAR(LP) V : BEHREVDO)
A FATEIE (MAX) wv 160 200 | 250 | 350  400~500
(tan 6) (120Hz 20C) tan & 015 015 | 015 | 015 0I5
WA : 120Hz
SRR WEHLEY) | 160-500 |
FEHU@ELE (MAX) 7:25C 17420C | 8
TE10SCERBES + AT s FE S B SO MR » AR PR 2000/ NI /S
FRREWEF20C TR - RiFERLITEK -
it A1 FrrEE (bR TEWIHAIERYE 20% LA
BRAEVIE BB (EHI200%
R TS E
R TR TEI05SCHERH » EHTETIE 1000/ NS » FREEEIRE F120°C TR - RO S A E— AR R 2K -
B RE

®D P t Hexagonal-bolt
51 22.2 6.3 M5 x 0.8 x 10
64 28.5 6.3 M5 x 0.8 x 10
77 31.8 5.8 M5 x 0.8 x 10
90 31.6 5.8 M6 x 1.0 x 10
| BOGENRES AR

$iE (Hz) 60 120 300 1K = 10K
e 0.70 1.00 1.10 1.30 1.40
E 40 60 85 105
FE 2.44 2.16 2.00 1.00

A7 in B Z MRS AIA 2 5, AR S Tl A S A s




JAMICON

SRR RN FE AR F A AR

TEAPO

JIERT : QP
HE L5 QP
Wi e S — %

AUEHE =) 0K ER AUEHE =) 0K ER
CRIBHE) HER o o tan & Arms,1050)| | CEsmHE) H%Egﬁf (DDEL“L tan & (Afrms, 105°C)
W) s D5 rm) (120Hz) W) s e (120H2)

4700 51x80 0.15 6.81 0 @I 8200 77x155 0.15 18.11
5600 51x96 0.15 8.05 10000 90x157 0.15 21.94
6800 64x96 0.15 8.80 1000 51x75 0.15 408

160 (200) 8200 64x96 0.15 9.66 1200 51x96 0.15 497
10000 77x96 0.15 11.34 1500 51x96 0.15 5.56
15000 77x130 0.15 15.81 2200 64x96 0.15 7.65
22000 90x131 0.15 19.87 3300 64x130 0.15 10.70
3300 51x80 0.15 503 400 (450) 3900 64x155 0.15 12.50
4700 51x96 0.15 6.76 4700 77x130 0.15 14.16
5600 64x96 0.15 7.99 5600 77x155 0.15 16.70

200 (250) 6300 64x115 0.15 9.52 6800 90x157 0.15 16.83
8200 77x96 0.15 10.27 8200 90x157 0.15 18.48
10000 77x115 0.15 12,24 10000 90x196 0.15 2.5)
15000 90x131 0.15 16.47 1000 51x96 0.15 4.54
2200 51x75 0.15 4.53 1200 51x115 0.15 5.39
3300 51x96 0.15 6.18 1500 S1x115 0.15 6.02
3900 64x96 0.15 6.69 2200 64x115 0.15 8.28
4700 64x115 0.15 7.94 050 0D 3300 64x130 0.15 10.70

250 (300) 5600 77396 0.15 891 3900 77x121 0.15 12.50
6800 77x115 0.15 10.60 4700 T7x144 0.15 14.81
8200 77x130 0.15 1227 5600 90x145 0.15 15.49
10000 77x155 0.15 14.65 6800 90x196 0.15 19.50
15000 90x157 0.15 17.81 8200 90x196 0.15 2141
1000 51x75 0.15 4.08 820 S1x115 0.20 3.86
1200 51x75 0.15 4.47 1000 51x130 0.20 4.50
1500 51x96 0.15 5.56 64x96 0.2 437
1800 51x96 0.15 6.09 1200 64x115 0.20 5.18
2200 51x115 0.15 7.29 64x130 0.20 6.12

350 (400) 2700 64x96 0.15 8.48 200 330 1300 77x96 0.2 5.66
3300 64x115 0.15 10.13 1800 77x115 0.20 6.69
3900 64x115 0.15 1102 2700 77x155 0.20 9.33
4700 64x130 0.15 12.77 3900 90x157 0.20 11.70
5600 77x130 0.15 15.46 6800 905236 0.20 18.54
6800 775130 0.15 17.03

AT B S Z MRS T, 28R ST A DA £




	QP
	Sheet1

